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I.  Framing questions:
A. Is the whole X210 just about the interpersonal relationship between the parties OR
is it about objective internal standards for the institutions of mw R and 7w17°2?
B. What are these three mu ¥ in the 7awn? Are they literally as they sound?
C. What do these three mu°w think about nw X and 1"w17° more generally? Does
your view about how easy/hard it is to end Mk say anything about your general
orientation towards N R?
II.  Interpersonal vs. mw°XR standards
777 n"W - her consent allows 717 for anything
non vs. 21737 N1 regarding MO°R vs. 71210 7YY
n"on discussion about 701K vs. PRIV
0"21n7a huw
1. Placement/treatment of grounds for divorce
2. Diffusion of 2’177
III.  What do the a°xin hold?
A. Option #1 - 2 simple views: limiting grounds vs. trivial grounds
B. Option #2 - 3 categories: there’s the category of mi1, category of 77», and
category of incompatibility (or My1 mM7n)
C. Option #3 - 257 between the mv>w: whether the nv°w is a broader category or
simple view could depend on which 7vw it is
IV.  >xnw nma
A. Question/assumption of R3-1 P15 5w
1. Answer of the "n5u1
a) Our X072 - an 7wy and a WRY
b) Moo o of two TIRY, and B7wsT 1998 question regarding R”YNRNR
2. Answers about 72v°72 13 m%n - challenging the assumption of the *»%w17
a) Vs Rrawn - it’s o always
b) TIPN-R K7W MAWN - it’s 717 in cases of 1y TV
C) ©"w 9 - it’s o1 when there’s 1 against the mr 7w
3. Answer of Puwia sip- wife’s consent
B. "1 1wRY 217 - the w93 @ limitation of w2
V. R2pPY "M oI N2
A. muws - grounds for divorce are trivial
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1. Evidence
a) TR 990 and 2Y7YOR Y50
b) sripon 2
c) P 2" on il
d) wrme arans on v
2. Justifications
a) n7°n2/right of the Hva
b) Psychological vw» - the 8-75 2927 2%2%»
c) High standards of nw°x
B. Broader categories
1. am
a) 7°u SR - rebellion
b) R MW - negligence
C) WA »raY - there’s a mxn
(1) 9»9 - maybe only a mxn for *Xnw n°2 (contrasted with 7172)
d) pPr7in »rap arans (contrasted with ¥77)
2. ¥y
a) N-T22%927 RIIY 32K - incompatibility
b) 5 - there’s TRIW and 257 N3 (contrasted with 1772)
c) pow 2" - it leads to serious npYonn between them (contrasted
with 7172)
VI nwyaamn
A. Our R0 in 703 W1
B. Answering 0”7 1793 question on Md0IN regarding X"YNKRR (two answers)
C. o now
1. mxna Pan - the 07ann vs. 77an0
2. mpma XY - apparent 77°N0 between T°-X° 117 and -0 27X (specifically
with 7”7 in both places)
a) mwn nod first VWD - the MPYA in 7-X° PYIA s KPI1T R
b) m1wn 7> second LW - convergence of 3" and VI
¢) n"nand "3 - one Y vs. two 2>T¥ (or PT vs. ORT)
3. Nwmen
a) Emphasis on 7R over 7"017°X
b) Emphasis on 7P over 2v2



